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1. Jones Corporation’s capital structure was as follows:

_ December 31
1994 1993
Outstanding shares of stock: '
Common . . .. ....... . 110,000 110,000
Convertible preferred . . . . . . 10,000 10,000
' 8 percent convertible bonds. . . ., $1,000,000 $1,000,000

During 1994, Jones paid dividends of $3.00 per share on its preferred stock. The preferred shares
-are convertible into 20,000 shares of common stock and are considered common stock equivalents.
The 8 percent bonds are convertible into 30,000 shares of common stock but are not considered
common stock equivalents. Net income for 1994 is $850,000. Assume that the income tax rate is 30
percent. The fully diluted earnings per share for 1994 is

a. $5.48. '

b. $5.66.

c. $5.81.

d. $6.26.

2. In March 1995, an explosion occurred at Nilo Company's plant, causing damage to area properties.
By May 1995, no claims had yet been asserted against Nilo. However, Nilo's management and legal
counsel concluded that it was reasonably possible that Nilo would be held responsible for negli-
gence and that $3,000,000 was a reasonable estimate of the damages. Nilo's $5,000,000 comprehen-
sive public liability policy contains a $300,000 deductible clause. In Nilo's December 31, 1994,
financial statements, for which the auditor's field work was completed in April 1995, how should
this casualty be reported? .
a. As a footnote disclosing a possible liability of $3,000,000.
b. As an accrued liability of $300,000.

c. As a footnote disclosing a possible liability of $300,000. ;
d. No footnote disclosure or accrual is required for 1994 because the event occurred in 1995.

3. Dean Company uses the retail inventory method to estimate its inventory for interim statement
purposes. Data relating to the computation of the inventory at July 31, 1997, are as follows:

Cost Retail _
Beginning inventory, 2/1/97 . . . . . . .. $ 180,000 $ 250,000
Purchases . . . . . ... ........ 1,020,000 1,575,000 J
Markups,met. . . . . ... ....... o 175,000
Sales . . ......... . ..., : 1,705,000
Estimated normal shoplifting losses. . . . . 20,000
Markdowns, net . . . .. ... e e 125,000
Under the approximate lower-of-average-cost-or-market retail method, Dean’s estimated inven- A
tory at.July 31, 1997, is
a. $90,000.
b. $96,000.
c. $102,000.
d. $150,000.

4. Peter Company has invested $40,000 in a royalty-producing copyright. Peter's expected rate of
return from the three-year project is 20 percent. The cash flow, net of income taxes, was $15,000
for the first year and $18,000 for the second year. Assuming that the rate of return is exactly 20
percent, what would be the cash flow, net of income taxes, for the third year?

a. $8,681. c. $11,497. '

b. $11,000. d. $25,920.
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5. During 1994, Ward Company introduced a new product carrying a two-year warranty against
defects. The estimated warranty costs related to dollar sales are 2 percent within 12 months
following sale and 4 percent in the second 12 months following sale. Sales and actual warranty
expenditures for the years ended December 31, 1994 and 1995, are as follows: !

Actual Warranty

Sales Expenditures
1994, . . . . $300,000 $ 4,500 !
1995. . . .. 500,000 15,000
$800,000 $19,500
At December 31, 1995, Ward would report an estimated warranty liability of "
a. $28,500. . _ ,
b. $22,500. _ i
c. $8,500. .
d. $5,000.

6. Roundtree Company, a manufacturer of natural foods, reported sales of $2,300,000 in 1995. Round- °
tree also reported the following balances:
Dec. 31, }994 Dec. 31, 1995

Accounts receivable . . . . . . . ... $500,000 $650,000
.. Allowance for doubtful accounts. . . . . (30,000) (55,000)

Roundtree wrote off $10,000 of accounts during 1995. Under the cash basis of accounting, Round- |
tree would have reported 1995 sales of ' f
a. $2,450,000. ‘
b, $2,175,000.
c. $2,150,000.
d. $2,140,000.

7. Robb Company requires advance payments with special orders from customers for machinery
constructed to their specifications. Information for 1995 is as follows:

Customer advances—balance 12/31/94. . . . . . . .. $295,000 i,
Advances received with orders in 1995. . . . . . . . . 460,000 ' !
Advances applied to orders shipped in 1995 . . . . . . 410,000
Advances applicable to orders canceled in 1995. . . . . 125,000

At December 31, 1995, what amount should Robb report as a current liability for customer

deposits?
a. $0.

b. $220¢,000.
c. $345,000.
d. $370,000.

8. On December 31, 1995, Hangtown Company, a California real estate firm, received two $20,000 “ 1
notes from customers in exchange for services rendered. On both notes, simple interest is com- ‘ '
puted on the outstanding principal balance at 3 percent and payable at maturity. The note from El

Dorado Company is due in nine months, and the note from Newcastle Company is due in five »

years. The market interest rate for similar notes on December 31, 1995, was 8 percent. At what ‘

amounts should the two notes be reported in Hangtown's December 31, 1995, balance sheet? '&
El Derado Newecastle N ..g

a. $18,868 $13,624

b. $18,519 $15,653

c. 20,000 $13,024

d.  $20,000 $15,653
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S-. Zepo Corporation's recent comparative balance sheet and income statement
follow:
Comparative Balance Sheets
December 31
1995 1994

Assels: . ‘ .

Cash . . ........ ... .u.... 88500 § 60,000

Accounts receivable . . ., ., ., ., ... . 33,000 24,000

‘Plant assets. .., .., ..., ., Ce e e o, 217,000 247,000

Accumulated depreciation. , . . . . .-, ., . . (178,000) (167,000)

Totalassets . . . ..., ........... $ 192,000 $ 164,000
Liabilities and stockholders’ equity:

Bonds payable. . . . . . . YRR .. 3 49,000 °"$ 46,000

Dividends payable . . . . .. ... ..... 8,000 5,000

Common stock, $1par . . , . ... ..... 22,000 19,000

Additional paid-in capital . . ., .. ... ... 9,000 3,000

Retained earnings . . . . ... . ... ... 104,000 91,000

Total liabilities and stockholders' equity . . $ 192,000 $ 164,000

Income Statement
For Year Ended December 31, 1995

_Salesrevenue . ., .. ... ., $ 155,000

Cost of goods sold
Gross margin. . .

Depreciation expense

Guin on sale of equipment, . . . .

Netincome . . . . .

Additional information: -

........

1. During 1995, equipment costing $40,000 was soldAfo‘r cash.

2. During 1995, $20,000 of bonds
There was no amortization of

REQUIRED :
Compute the following items:

payable were issued in exchange for property,
bond discount or premium. ‘

plant, and equipment.

@. Net cash provided (used) by operating activities. (§5)
@. Net cash provided (used) by investing activities. (¢5)
@, Net cash provided (used) by financing activities. (66)
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